

1-Absorbing prime property in lattices

Shahabaddin Ebrahimi Atani^{†*}

[†]*Department of Pure Mathematics, University of Guilan, Rasht, Iran*

Emails: ebrahimi@guilan.ac.ir

Abstract. Let \mathcal{L} be a bounded distributive lattice. Following the concept of 1-absorbing prime ideals, we define 1-absorbing prime filters of \mathcal{L} . A proper filter F of \mathcal{L} is called 1-absorbing prime filter of \mathcal{L} if whenever non-zero elements $a, b, c \in \mathcal{L}$ and $a \vee b \vee c \in F$, then either $a \vee b \in F$ or $c \in F$. We will make an intensive investigate the basic properties and possible structures of these filters.

Keywords: Lattice, Filter, 1-Absorbing filter.

AMS Subject Classification 2010: 03G10, 06A11, 06C05, 06Dxx.

1 Introduction

All lattices considered in this paper are assumed to have a least element denoted by 0 and a greatest element denoted by 1, in other words they are bounded. As algebraic structures, lattices are definitely a natural choice of generalizations of rings, and it is appropriate to ask which properties of rings can be extended to lattices. The main aim of this article is that of extending some results obtained for ring theory to the theory of lattices. Nevertheless, growing interest in developing the algebraic theory of lattices can be found in several papers and books (see for example [2, 4–10]).

Since prime ideals have an important role in the theory of commutative rings, there are several ways to generalize the concept of prime ideals. In 2021, Yassine et al. in [13] defined 1-absorbing prime ideals which is a generalization of prime ideals. A proper ideal I of R is said to be a 1-absorbing prime ideal if whenever $abc \in I$ for some non-units $a, b, c \in R$, then $ab \in I$ or $c \in I$ (also see [1, 3] and [5, 11]). Let \mathcal{L} be a bounded distributive lattice. Our objective in this paper is to extend the notion of 1-absorbing property in commutative rings to 1-absorbing property in the lattices, and to investigate the relations between 1-absorbing prime filters, 2-absorbing filters and prime filters. Among many results in this paper, the first, preliminaries section contains elementary observations needed later on.

*Corresponding author

Received: 31 July 2024/ Revised: 15 October 2024/ Accepted: 15 October 2024

DOI: [10.22124/JART.2024.28061.1693](https://doi.org/10.22124/JART.2024.28061.1693)

In Section 3, we give basic properties of 1-absorbing prime filters. At first, we give the definition of 1-absorbing prime filters (Definition 1) and we give an example (Example 1) of a 1-absorbing prime filter of \mathcal{L} which is not that a prime filter. It is shown (Theorem 1) that if \mathcal{L} admits a 1-absorbing prime filter that is not a prime filter, then \mathcal{L} is a local lattice. We give an example (Example 2) of a 2-absorbing filter of \mathcal{L} that is not a 1-absorbing prime filter. It is shown (Theorem 3) that If every 2-absorbing filter of a lattice \mathcal{L} is a 1-absorbing prime filter, then prime filters of \mathcal{L} are comparable; in particular, \mathcal{L} is a local lattice. It is proved (Theorem 4) that F is a 1-absorbing prime filter of \mathcal{L} if and only if for any proper filters F_1, F_2, F_3 of \mathcal{L} such that $F_1 \vee F_2 \vee F_3 \subseteq F$ implies that either $F_1 \vee F_2 \subseteq F$ or $F_3 \subseteq F$. It is shown (Theorem 5) that if \mathcal{L} is a non-local lattice, then every nontrivial filter of \mathcal{L} is a 1-absorbing prime filter if and only if $\mathcal{L} = S_1 \oplus S_2$, where S_1 and S_2 are simple filters of \mathcal{L} . In the rest of this section, we provide an example of lattices for which their 1-absorbing prime filters and prime filters are the same. It is proved (Theorem 6) that if $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a direct product of lattices \mathcal{L}_1 and \mathcal{L}_2 , then P is a 1-absorbing prime filter of \mathcal{L} if and only if P is a prime filter of \mathcal{L} .

Section 4 is dedicated to the study the stability of 1-absorbing prime filters in various lattice-theoretic constructions. Quotient lattices are determined by equivalence relations rather than by ideals as in the ring case. There are many different definition of a quotient lattice appearing in the literature. Here, quotient 1-absorbing prime filters are studied and some possible properties of these filters are investigated. It is proved (Theorem 8) that if F and G are proper filters of a complemented lattice \mathcal{L} with $G \subseteq F$, then F is a 1-absorbing prime filter of \mathcal{L} if and only if F/G is a 1-absorbing prime filter of \mathcal{L}/G . It is shown (Theorem 9) that if F is a proper filter of \mathcal{L} and \mathcal{L} is a \vee -lattice, then \mathcal{L}/F is a \vee -lattice. It is proved (Theorem 12) that if F is a proper filter of \mathcal{L} , then the following hold: (1) $F = \bigcap_{H \in \min_{ab}(F)} H$, (2) If F is a 1-absorbing prime filter, then $|\min_{ab}(F)| = 1$ and (3) If F has a \vee -factorization, then $\min_{ab}(F)$ is finite. It is shown (Theorem 14) that if F is a 1-absorbing prime filter of a divided lattice \mathcal{L} and $(F :_{\mathcal{L}} a)$ is a minimal prime filter over F for some $a \in \mathcal{L} \setminus F$, then F is a prime filter.

Section 5 is devoted to prove that the 1-absorbing prime avoidance theorem. More precisely, by using the technique of efficient covering of filters, in Theorem 15, the 1-absorbing prime avoidance theorem for 1-absorbing prime filters of \mathcal{L} is proved (also, some applications of this theorem are given (Theorem 16 and Theorem 17)).

2 Preliminaries

A poset (\mathcal{L}, \leq) is a *lattice* if $\sup\{a, b\} = a \vee b$ and $\inf\{a, b\} = a \wedge b$ exist for all $a, b \in \mathcal{L}$ (and call \wedge the *meet* and \vee the *join*). A lattice \mathcal{L} is *complete* when each of its subsets X has a least upper bound and a greatest lower bound in \mathcal{L} . Setting $X = \mathcal{L}$, we see that any nonvoid complete lattice contains a least element 0 and greatest element 1 (in this case, we say that \mathcal{L} is a lattice with 0 and 1). A lattice \mathcal{L} is called a *distributive* lattice if $(a \vee b) \wedge c = (a \wedge c) \vee (b \wedge c)$ for all a, b, c in \mathcal{L} (equivalently, \mathcal{L} is distributive if $(a \wedge b) \vee c = (a \vee c) \wedge (b \vee c)$ for all a, b, c in \mathcal{L}). A non-empty subset F of a lattice \mathcal{L} is called a *filter*, if for $a \in F, b \in \mathcal{L}, a \leq b$ implies $b \in F$, and $x \wedge y \in F$ for all $x, y \in F$ (so if \mathcal{L} is a lattice with 0, 1, then $1 \in F, 0 \in F$ if and only if $F = \mathcal{L}$ and $\{1\}$ is a filter of \mathcal{L}). A proper filter F of \mathcal{L} is called *prime* if $x \vee y \in F$, then $x \in F$ or $y \in F$. A proper filter F of \mathcal{L} is said to be *maximal* if G is a filter in \mathcal{L} with $F \subsetneq G$, then

$G = \mathcal{L}$. The intersection of all filters containing a given subset A of \mathcal{L} is the *filter generated by* it, is denoted by $T(A)$. A filter F is called *finitely generated* if there is a finite subset A of F such that $F = T(A)$. A proper filter F of a lattice \mathcal{L} is called a *2-absorbing* filter if whenever $a, b, c \in \mathcal{L}$ and $a \vee b \vee c \in F$, then $a \vee b \in F$ or $a \vee c \in F$ or $b \vee c \in F$.

A lattice \mathcal{L} is called *local* if it has exactly one maximal filter that contains all proper filters. If $x \in \mathcal{L}$, then a *complement* of x in \mathcal{L} is an element $y \in \mathcal{L}$ such that $x \vee y = 1$ and $x \wedge y = 0$. The lattice \mathcal{L} is *complemented* if every element of \mathcal{L} has a complement in \mathcal{L} . If F is a proper filter of \mathcal{L} , then by a \vee -factorization of F we mean an expression of F as an intersection $\bigcap_{i=1}^n F_i$ of 1-absorbing prime filters. We call \mathcal{L} a \vee -lattice if every proper filter has a \vee -factorization. We denote by $\text{abSpec}(\mathcal{L})$ the set of all 1-absorbing prime filters of \mathcal{L} . If F is a filter in \mathcal{L} , the set of all *minimal* 1-absorbing prime filters over F will be denoted by $\text{min}_{ab}(F)$ and $V_{ab}(F) = \{H \in \text{abSpec}(\mathcal{L}) : F \subseteq H\}$. If \mathcal{L} and \mathcal{L}' are lattices, then a *lattice homomorphism* $f : \mathcal{L} \rightarrow \mathcal{L}'$ is a map from \mathcal{L} to \mathcal{L}' satisfying $f(x \vee y) = f(x) \vee f(y)$ and $f(x \wedge y) = f(x) \wedge f(y)$ for $x, y \in \mathcal{L}$. We say that a subset $S \subseteq \mathcal{L}$ is *join subset* if $0 \in S$ and $s_1 \vee s_2 \in S$ for all $s_1, s_2 \in S$ (clearly, if P is a prime filter of \mathcal{L} , then $\mathcal{L} \setminus P$ is a join subset of \mathcal{L}). For undefined notations or terminologies in lattice theory, we refer the reader to [2, 4]. First we need the following lemma proved in [2, 5, 9].

Lemma 1. *Let F and G be filters of a lattice \mathcal{L} and $x \in \mathcal{L}$.*

(1) *A non-empty subset K of \mathcal{L} is a filter of \mathcal{L} if and only if $x \vee z \in K$ and $x \wedge y \in K$ for all $x, y \in K, z \in \mathcal{L}$. Moreover, since $x = x \vee (x \wedge y)$, $y = y \vee (x \wedge y)$ and K is a filter, $x \wedge y \in K$ gives $x, y \in K$ for all $x, y \in \mathcal{L}$.*

(2) *Let A be an arbitrary non-empty subset of \mathcal{L} . Then*

$$T(A) = \{x \in \mathcal{L} : a_1 \wedge a_2 \wedge \cdots \wedge a_n \leq x \text{ for some } a_i \in A \ (1 \leq i \leq n)\}.$$

Moreover, if $a \in \mathcal{L}$, then $T(\{a\}) = T(a) = \{x \vee a : x \in \mathcal{L}\}$.

(3) *$F \vee G = \{a \vee b : a \in F, b \in G\}$ and $x \vee F = \{x \vee y : y \in F\}$ are filters of \mathcal{L} with $F \vee G = F \cap G$.*

(4) *If \mathcal{L} is distributive, then $F \wedge G = \{a \wedge b : a \in F, b \in G\}$ is a filter of \mathcal{L} with $F, G \subseteq F \wedge G$.*

(5) *If \mathcal{L} is distributive, F, G are filters of \mathcal{L} , and $y \in \mathcal{L}$, then $(G :_{\mathcal{L}} F) = \{x \in \mathcal{L} : x \vee F \subseteq G\}$ and $(F :_{\mathcal{L}} T(\{y\})) = (F :_{\mathcal{L}} y) = \{a \in \mathcal{L} : a \vee y \in F\}$ are filters of \mathcal{L} .*

(6) *If $f : \mathcal{L} \rightarrow \mathcal{L}'$ is a lattice homomorphism with $f(1) = 1$, then $\text{Ker}(f) = \{x \in \mathcal{L} : f(x) = 1\}$ is a filter of \mathcal{L} .*

A proper filter F of \mathcal{L} is said to be a *direct meet* of \mathcal{L} if $\mathcal{L} = F \wedge G$ and $F \cap G = \{1\}$ for some filter G of \mathcal{L} . In this case we write $\mathcal{L} = F \oplus G$. A *simple* filter is a filter that has no filters besides the $\{1\}$ and itself.

3 Characterization of 1-absorbing prime filters

In this section, we collect some basic properties concerning 1-absorbing prime filters. We remind the reader with the following definition.

Definition 1. *A proper filter F of a lattice \mathcal{L} is called 1-absorbing prime if for all non-zero elements $a, b, c \in \mathcal{L}$ such that $a \vee b \vee c \in F$, then either $a \vee b \in F$ or $c \in F$.*

Proposition 1. *If F is a 1-absorbing prime filter of \mathcal{L} , then $(F :_{\mathcal{L}} a)$ is a prime filter of \mathcal{L} for every $a \in \mathcal{L} \setminus F$.*

Proof. Let $x \vee y \in (F :_{\mathcal{L}} a)$ for some non-zero elements $x, y \in \mathcal{L}$ with $x \notin (F :_{\mathcal{L}} a)$ (so $x \vee a \notin F$). Then by assumption, $x \vee y \vee a \in F$ and $x \vee a \notin F$ gives $y \in F \subseteq (F :_{\mathcal{L}} a)$. Hence $(F :_{\mathcal{L}} a)$ is a prime filter. \square

It can be easily seen that every prime filter of \mathcal{L} is 1-absorbing prime. But generally these two classes are different. The following result provides an example to construct a 1-absorbing prime filter that is not a prime filter (which is mentioned in [6, Example 2.4]).

Example 1. Let \mathbb{N} be the set of natural numbers and $\mathcal{L} = H \cup \{\mathbb{N}\}$, where $H = \{X \subseteq \mathbb{N} : X \text{ is finite}\}$. Then \mathcal{L} is a distributive lattice (note that if $X, Y \in \mathcal{L}$, then $X \vee Y = X \cup Y$ and $X \wedge Y = X \cap Y$). Every (resp. prime) filter of \mathcal{L} has the form $[X] = \{G \in \mathcal{L} : X \subseteq G\}$, where $X \in \mathcal{L}$ (resp. $[\{a\}] = \{G \in \mathcal{L} : a \in G\}$, where $a \in \mathbb{N}$). Set $X = \{1, 2\}$. Then $[X]$ is a 1-absorbing prime filter of \mathcal{L} which is not that a prime filter. Thus a 1-absorbing prime filter need not be a prime filter.

In the following theorem, we prove that if \mathcal{L} is not a local lattice, then every 1-absorbing prime filter is prime. Compare the next theorem with Theorem 2.4 in [13].

Theorem 1. *If F is a 1-absorbing prime filter of a lattice \mathcal{L} that is not prime for some filter F of \mathcal{L} , then \mathcal{L} is a local lattice.*

Proof. By hypothesis, there are non-zero elements $a, b \in \mathcal{L}$ such that $a \vee b \in F$ and $a, b \notin F$. Assume to the contrary, let M_1 and M_2 be two distinct maximal filters of \mathcal{L} . Then $M_1 \subsetneq M_1 \wedge M_2 \subseteq \mathcal{L}$ gives $M_1 \wedge M_2 = \mathcal{L}$; so $0 = m_1 \wedge m_2$ for some $m_1 \in M_1$ and $m_2 \in M_2$. Therefore $a \vee b \vee m_1 \in F$ and $b \notin F$ implies that $a \vee m_1 \in F$, as F is a 1-absorbing prime filter. Similarly, $a \vee m_2 \in F$. It follows that $(a \vee m_1) \wedge (a \vee m_2) = a \vee (m_1 \wedge m_2) = a \in F$ which is impossible. This completes the proof. \square

Corollary 1. *If a lattice \mathcal{L} is not local, then a proper filter F is a 1-absorbing prime filter if and only if F is a prime filter of \mathcal{L} .*

Proof. This is a direct consequence of Theorem 1. \square

Theorem 2. *If P is a 1-absorbing prime filter of a local lattice \mathcal{L} with unique maximal filter M , then either P is prime or $P \wedge M \subseteq P \subseteq M$.*

Proof. Let P be a 1-absorbing prime filter such that P is not a prime filter. Since P is proper, we infer that $P \subsetneq M$ by [7, Lemma 2.1]. There are $a, b \in M \setminus P$ such that $a \vee b \in P$, as P is not prime. To see that $P \wedge M \subseteq P$, it is enough to show that $x \wedge y \in P$ for all $x \in P$ and $y \in M$. Let $x \in P$ and $y \in M$. Set $z = x \wedge y$ (so $a \vee b \vee z \in P$). Since a, b, z are non-zero, $b \notin P$ and P is a 1-absorbing prime filter, we have $z \vee a \in P$. Again, since z, a are non-zero, $a \notin P$ and P is 1-absorbing prime, we have $z \in P$, as required. \square

It is obvious that any 1-absorbing prime filter of \mathcal{L} is a 2-absorbing filter. The following example shows that 1-absorbing prime filters and 2-absorbing filters are not coincide generally.

Example 2. Let $\mathcal{L} = \{0, a, b, c, 1\}$ be a lattice with the relations $0 \leq a \leq c \leq 1$, $0 \leq b \leq c \leq 1$, $a \vee b = c$ and $a \wedge b = 0$. An inspection will show that the nontrivial filters of \mathcal{L} (i.e. different from $\{1\}$ and \mathcal{L}) are $F_1 = \{1, a, c\}$, $F_2 = \{1, b, c\}$ and $F_3 = \{1, c\}$.

(1) \mathcal{L} is not a local lattice and F_3 is not a prime filter of \mathcal{L} since F_1, F_2 are distinct maximal filters, $a \vee b = c \in F_3$ and $a, b \notin F_3$. Then it follows from Corollary 1 that F_3 is not a 1-absorbing prime filter of \mathcal{L} .

(2) Using [5, Theorem 2.8 (iii)], $F_1 \cap F_2 = F_3$ is a 2-absorbing filter, but it is not a 1-absorbing prime filter by (1). Thus a 2-absorbing filter need not be a 1-absorbing prime filter.

Theorem 3. *If every 2-absorbing filter of a lattice \mathcal{L} is a 1-absorbing prime, then prime filters of \mathcal{L} are comparable; in particular, \mathcal{L} is a local lattice.*

Proof. Let P_1 and P_2 be two prime filters of \mathcal{L} . Using [5, Theorem 2.8 (iii)], $P_1 \cap P_2$ is a 2-absorbing filter; so by assumption, it is a 1-absorbing prime filter which gives $(P_1 \cap P_2 :_{\mathcal{L}} x) = (P_1 :_{\mathcal{L}} x) \cap (P_2 :_{\mathcal{L}} x)$ is a prime filter for every $x \in \mathcal{L} \setminus (P_1 \cap P_2)$ by Proposition 1. Let $x \in \mathcal{L} \setminus (P_1 \cup P_2)$. Then by [6, Lemma 2.1], either $(P_1 :_{\mathcal{L}} x) \subseteq (P_1 :_{\mathcal{L}} x) \cap (P_2 :_{\mathcal{L}} x)$ or $(P_2 :_{\mathcal{L}} x) \subseteq (P_1 :_{\mathcal{L}} x) \cap (P_2 :_{\mathcal{L}} x)$ which implies that either $(P_1 :_{\mathcal{L}} x) \subseteq (P_2 :_{\mathcal{L}} x)$ or $(P_2 :_{\mathcal{L}} x) \subseteq (P_1 :_{\mathcal{L}} x)$. Therefore, without loss of generality, we can assume that $(P_1 :_{\mathcal{L}} x) \subseteq (P_2 :_{\mathcal{L}} x)$. Let $p_1 \in P_1$. Then $p_1 \in P_1 \subseteq (P_1 :_{\mathcal{L}} x) \subseteq (P_2 :_{\mathcal{L}} x)$ gives $p_1 \in P_2$, as P_2 is a prime filter; so $P_1 \subseteq P_2$. This shows that the prime filters of \mathcal{L} are comparable. Accordingly, \mathcal{L} is a local lattice. \square

Lemma 2. *Let F be a 1-absorbing prime filter of \mathcal{L} . If $(a \vee b) \vee G \subseteq F$ for some non-zero elements $a, b \in \mathcal{L}$ and a proper filter G of \mathcal{L} , then $a \vee b \in F$ or $G \subseteq F$.*

Proof. Suppose on the contrary that $(a \vee b) \vee G \subseteq F$, but $a \vee b \notin F$ and $G \not\subseteq F$. Then there is an element $g \in G$ such that $g \notin F$. By assumption, $a \vee b \vee g \in F$ gives $a \vee b \in F$ or $g \in F$ which is impossible. \square

Theorem 4. *Let F be a proper filter of \mathcal{L} . The following statements are equivalent:*

- (1) F is a 1-absorbing prime filter of \mathcal{L} ;
- (2) For any proper filters F_1, F_2, F_3 of \mathcal{L} such that $F_1 \vee F_2 \vee F_3 \subseteq F$ implies that either $F_1 \vee F_2 \subseteq F$ or $F_3 \subseteq F$.

Proof. (1) \Rightarrow (2) Suppose that $F_1 \vee F_2 \vee F_3 \subseteq F$ for some filters F_1, F_2, F_3 of \mathcal{L} and $F_1 \vee F_2 \not\subseteq F$. Then there are non-zero elements $f_1 \in F_1$ and $f_2 \in F_2$ such that $f_1 \vee f_2 \notin F$. Since $(f_1 \vee f_2) \vee F_3 \subseteq F$ and $f_1 \vee f_2 \notin F$, it follows from lemma 2 that $F_3 \subseteq F$.

(2) \Rightarrow (1) Suppose that $x \vee y \vee z \in F$ for some non-zero elements x, y, z of \mathcal{L} and $x \vee y \notin F$. Set $F_1 = T(\{x\})$, $F_2 = T(\{y\})$ and $F_3 = T(\{z\})$. Then by (2), $F_1 \vee F_2 \vee F_3 \subseteq F$ and $F_1 \vee F_2 \not\subseteq F$ gives $z \in F_3 \subseteq F$, as needed. \square

We need the following lemma proved in [8, Lemma 2.2].

Lemma 3. *If A and B are nontrivial filters of \mathcal{L} such that $\mathcal{L} = A \wedge B$, then F is a filter of \mathcal{L} if and only if $F = C \wedge D$ for some subfilter C of A and some subfilter D of B .*

The following theorem is a lattice counterpart of Theorem 2 in [3] describing the structure of 1-absorbing prime filters.

Theorem 5. *Let \mathcal{L} be a non-local lattice. The following statements are equivalent:*

- (1) *Every nontrivial filter of \mathcal{L} is a 1-absorbing prime filter;*
- (2) *$\mathcal{L} = S_1 \oplus S_2$, where S_1 and S_2 are simple filters of \mathcal{L} .*

Proof. (1) \Rightarrow (2) By assumption, \mathcal{L} has at least two maximal filters. Let S_1 and S_2 be two distinct maximal filters of \mathcal{L} . Then $S_1 \subsetneq S_1 \wedge S_2 \subseteq \mathcal{L}$ gives $\mathcal{L} = S_1 \wedge S_2$. We claim that $S_1 \cap S_2 = \{1\}$. On the contrary, assume that $S_1 \cap S_2 \neq \{1\}$. Then by using Corollary 1 and our hypothesis, we conclude that $S_1 \cap S_1$ is a prime filter of \mathcal{L} . Then by [6, Lemma 2.1], $S_1 \cap S_2 \subseteq S_1 \cap S_2$ gives $S_1 = S_2$ which is impossible. So $S_1 \cap S_2 = \{1\}$ and then $\mathcal{L} = S_1 \oplus S_2$. It remains to show that S_1 and S_2 are simple filters. If S_1 is not simple, then there exists a nontrivial filter S of \mathcal{L} such that $S \subsetneq S_1$ with $S \not\subseteq S_2$. It follows that $S \wedge S_2 = \mathcal{L}$. If $x \in S_1$, then $x = x \wedge 1 \in S_1 \wedge S_2 = S \wedge S_2$ which implies that $x = s \wedge b$ for some $s \in S$ and $b \in S_2$. Now S_1 is a filter gives $b \in S_1 \cap S_2 = \{1\}$ and so $x = s \in S$; hence $S_1 = S$, a contradiction. Similarly, S_2 is a simple filter, i.e. (2) holds.

(2) \Rightarrow (1) If $\mathcal{L} = S_1 \oplus S_2$, where S_1 and S_2 are simple filters of \mathcal{L} , it is clear that every nontrivial filter of \mathcal{L} is of the form $\{1\} \wedge S_2 = S_2$ and $S_1 \wedge \{1\} = S_1$ by Lemma 3. Let $S_1 \subseteq S \subseteq \mathcal{L}$ for some filter S of \mathcal{L} . If $S \cap S_2 \neq \{1\}$, then $S_2 \subseteq S$; so $S = \mathcal{L}$. Assume that $S \cap S_2 = \{1\}$ and let $x \in S$. Then $x = s_1 \wedge s_2$ for some $s_1 \in S_1$ and $s_2 \in S_2$. Then S is a filter gives $s_2 \in S \cap S_2 = \{1\}$ and so $x = s_1 \in S_1$; hence $S_1 = S$. Thus S_1 is a maximal filter (so prime by [7, Lemma 2.1]). Similarly, S_2 is a maximal filter. Hence, every nontrivial filter of \mathcal{L} is prime and so is 1-absorbing prime, as needed. \square

Suppose that R_1 and R_2 are commutative rings with identity. It is well known that the ideals of $R_1 \times R_2$ have the form $I_1 \times I_2$ where I_1 is an ideal of R_1 and I_2 is an ideal of R_2 . It easily follows that the prime (resp. maximal) ideals of $R_1 \times R_2$ have the form $P \times R_2$ or $R_1 \times Q$ where P is a prime (resp. maximal) ideal of R_1 or Q is a prime (resp. maximal) ideal of R_2 . The following results (i.e. Lemma 4, Lemma 5, Lemma 6, Proposition 2 and Proposition 3) are lattice counterpart of these results. In fact, we provide an example of lattices for which their 1-absorbing prime filters and prime filters are the same.

Assume that $(\mathcal{L}_1, \leq_1), (\mathcal{L}_2, \leq_2)$ are lattices and let $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$. We set up a partial order \leq_c on \mathcal{L} as follows: for each $x = (x_1, x_2), y = (y_1, y_2) \in \mathcal{L}$, we write $x \leq_c y$ if and only if $x_i \leq_i y_i$ for each $i \in \{1, 2\}$. The following notation below will be used in this paper: It is straightforward to check that (\mathcal{L}, \leq_c) is a lattice with $x \vee_c y = (x_1 \vee y_1, x_2 \vee y_2)$ and $x \wedge_c y = (x_1 \wedge y_1, x_2 \wedge y_2)$. In this case, we say that \mathcal{L} is a *decomposable lattice*.

Lemma 4. *If $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a decomposable lattice, then every filter of \mathcal{L} is of the form $P_1 \times P_2$, where P_1 is a filter of \mathcal{L}_1 and P_2 is a filter of \mathcal{L}_2 .*

Proof. Let P be any filter of \mathcal{L} , $P_1 = \{x_1 \in \mathcal{L}_1 : (x_1, y_2) \in P \text{ for some } y_2 \in \mathcal{L}_2\}$ and $P_2 = \{y_2 \in \mathcal{L}_2 : (x_1, y_2) \in P \text{ for some } x_1 \in \mathcal{L}_1\}$. Let $x_1, x'_1 \in P_1$ and $t_1 \in \mathcal{L}_1$. Then $(x_1, y_1), (x'_1, y'_1) \in P$ for some $y_1, y'_1 \in \mathcal{L}_2$. Therefore, $(x_1 \wedge x'_1, y_1 \wedge y'_1) = (x_1, y_1) \wedge_c (x'_1, y'_1) \in P$ and $(x_1 \vee t_1, y_1) = (x_1, y_1) \vee_c (t_1, 0) \in P$ gives $x_1 \wedge x'_1, x_1 \vee t_1 \in P_1$. Thus P_1 is a filter of \mathcal{L}_1 . Similarly, P_2 is a filter of \mathcal{L}_2 . We claim that $P = P_1 \times P_2$. Since the inclusion $P \subseteq P_1 \times P_2$ is clear, we will prove the reverse inclusion. Let $(a, b) \in P_1 \times P_2$. There exist $b' \in \mathcal{L}_2$ and $a' \in \mathcal{L}_1$ such that $(a, b'), (a', b) \in P$. Since P is a filter, $(0, 1) \vee_c (a, b') = (a, 1) \in P$ and $(1, 0) \vee_c (a', b) = (1, b) \in P$ which gives $(a, 1) \wedge (1, b) = (a, b) \in P$, and so we have equality. \square

Lemma 5. *Suppose that $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a decomposable lattice and let P , P_1 and P_2 be as in Lemma 4. If P is a prime filter of \mathcal{L} , then P_1 is a prime filter of \mathcal{L}_1 and P_2 is a prime filter of \mathcal{L}_2 .*

Proof. Let $a \vee b \in P_1$ for some $a, b \in \mathcal{L}_1$. Then $(a \vee b, c) = (a, c) \vee_c (b, 0) \in P$ for some $c \in \mathcal{L}_2$. Then P is prime gives either $(a, c) \in P$ or $(b, 0) \in P$; hence either $a \in P_1$ or $b \in P_1$. Thus P_1 is a prime filter of \mathcal{L}_1 . Similarly, P_2 is a prime filter of \mathcal{L}_2 . \square

Lemma 6. *Suppose that $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a decomposable lattice and let P , P_1 and P_2 be as in Lemma 4. If P is a maximal filter of \mathcal{L} , then P_1 is a maximal filter of \mathcal{L}_1 and P_2 is a maximal filter of \mathcal{L}_2 .*

Proof. Let $P_1 \subsetneq K \subseteq \mathcal{L}_1$ for some filter K of \mathcal{L}_1 . Then there exist $k \in K \setminus P_1$ and $y \in \mathcal{L}_2$ such that $(k, y) \notin P$. Then $P \wedge T(\{(k, y)\}) = \mathcal{L}$ gives $(0, 0) = ((k, y) \vee (a, b)) \wedge (c, d) = ((k \vee a) \wedge c, ((y \vee b) \wedge d))$ for some $(a, b) \in \mathcal{L}$ and $(c, d) \in P$ (so $c \in P_1 \subseteq K$). It follows that $0 = (k \vee a) \wedge c \in K$, as K is a filter; so $K = \mathcal{L}_1$. Thus P_1 is a maximal filter of \mathcal{L}_1 . Similarly, P_2 is a maximal filter of \mathcal{L}_2 . \square

Proposition 2. *Suppose that $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a decomposable lattice and let P be a proper filter of \mathcal{L} . Then P is a prime filter of \mathcal{L} if and only if $P = P_1 \times \mathcal{L}_2$ for some prime filter P_1 of \mathcal{L}_1 or $P = \mathcal{L}_1 \times P_2$ for some prime filter P_2 of \mathcal{L}_2 .*

Proof. Suppose that P is a prime filter of \mathcal{L} ; we show that either $P = P_1 \times \mathcal{L}_2$ or $P = \mathcal{L}_1 \times P_2$, where P_1 and P_2 are as in Lemma 4. On the contrary, assume that $P \subsetneq P_1 \times \mathcal{L}_2$ and $P \subsetneq \mathcal{L}_1 \times P_2$. There are elements $p_1 \in P_1$, $y_2 \in \mathcal{L}_2$, $x_1 \in \mathcal{L}_1$ and $p_2 \in P_2$ such that $(p_1, y_2) \in (P_1 \times \mathcal{L}_2) \setminus P$ and $(x_1, p_2) \in (\mathcal{L}_1 \times P_2) \setminus P$. Since $x_1 \vee p_1 \in P_1$, $(x_1 \vee p_1, z) \in P$ for some $z \in \mathcal{L}_2$, we have $(x_1 \vee p_1, z) \vee_c (0, y_2 \vee p_2) =$

$$(x_1 \vee p_1, z \vee y_2 \vee p_2) = (p_1, y_2) \vee_c (x_1, z \vee p_2) \in P,$$

as P is a filter. Then P is prime gives $(x_1, p_2) \vee_c (0, z) \in P$; hence $(0, z) \in P$. This shows that $0 \in P_2$, a contradiction. Therefore either $P = P_1 \times \mathcal{L}_2$ or $P = \mathcal{L}_1 \times P_2$. Conversely, suppose that either $P = G \times \mathcal{L}_2$ or $P = \mathcal{L}_1 \times H$, where G is prime in \mathcal{L}_1 and H is prime in \mathcal{L}_2 . Let

$$(x, y) \vee_c (x', y') = (x \vee x', y \vee y') \in P$$

for some $(x, y), (x', y') \in \mathcal{L}$. We can assume that $P = G \times \mathcal{L}_2$. Then $x \vee x' \in G$ gives either $x \in G$ or $x' \in G$ which implies that either $(x, y) \in P$ or $(x', y') \in P$; so P is prime. \square

Proposition 3. *Suppose that $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a decomposable lattice and let P be a proper filter of \mathcal{L} . Then P is a maximal filter of \mathcal{L} if and only if $P = P_1 \times \mathcal{L}_2$ for some maximal filter P_1 of \mathcal{L}_1 or $P = \mathcal{L}_1 \times P_2$ for some maximal filter P_2 of \mathcal{L}_2 .*

Proof. If P is a maximal filter of \mathcal{L} , then by an argument like that in Proposition 2, we have either $P = P_1 \times \mathcal{L}_2$ or $P = \mathcal{L}_1 \times P_2$, where P_1 and P_2 are as in Lemma 4. Conversely, suppose that either $P = G \times \mathcal{L}_2$ or $P = \mathcal{L}_1 \times H$, where G is a maximal filter of \mathcal{L}_1 and H is a maximal filter of \mathcal{L}_2 . On the contrary, suppose that $P \subsetneq H \subsetneq \mathcal{L}$ for some filter H of \mathcal{L} . We may assume that $P = G \times \mathcal{L}_2$. So by Lemma 4, H is of the form $F_1 \times \mathcal{L}_2$ such that $G \subsetneq F_1 \subsetneq \mathcal{L}_1$. Consider $x \in F_1 \setminus G$. Then $T(\{x\}) \wedge G = \mathcal{L}_1$ gives $0 = g \wedge (x \vee a) = (g \wedge a) \vee (g \wedge x)$ which gives $g \wedge x = 0 \in F_1$, as F_1 is a filter, a contradiction. Thus P is a maximal filter of \mathcal{L} . \square

By our previous result, it can be easily seen that every direct product of lattices is not a local lattice.

Corollary 2. *If $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a decomposable lattice, then a proper filter P of \mathcal{L} is a 1-absorbing prime filter of \mathcal{L} if and only if P is a prime filter of \mathcal{L} .*

Proof. This is a direct consequence of Corollary 1. \square

In view of Corollary 2 and Proposition 2, we have the following result.

Theorem 6. *Suppose that $\mathcal{L} = \mathcal{L}_1 \times \mathcal{L}_2$ is a decomposable lattice and let P be a proper filter of \mathcal{L} . The following statements are equivalent:*

- (1) P is a 1-absorbing prime filter of \mathcal{L} ;
- (2) P is a prime filter of \mathcal{L} ;
- (3) $P = P_1 \times \mathcal{L}_2$ for some prime filter P_1 of \mathcal{L}_1 or $P = \mathcal{L}_1 \times P_2$ for some prime filter P_2 of \mathcal{L}_2 .

4 Further results

We begin this section by investigation the stability of prime 1-absorbing filters in various lattice-theoretic constructions.

Theorem 7. *Let \mathcal{L}_1 and \mathcal{L}_2 be lattices and $f : \mathcal{L}_1 \rightarrow \mathcal{L}_2$ be a lattice homomorphism such that $f(1) = 1$ and $f(a)$ is non-zero in \mathcal{L}_2 for every non-zero element a of \mathcal{L}_1 . The following statements hold:*

- (1) *If F is a 1-absorbing prime filter of \mathcal{L}_2 , then $f^{-1}(F)$ is a 1-absorbing prime filter of \mathcal{L}_1 .*
- (2) *Let \mathcal{L}_1 be a complemented lattice. If f is epimorphism and H is a 1-absorbing prime filter of \mathcal{L}_1 with $\text{Ker}(f) \subseteq H$, then $f(H)$ is a 1-absorbing prime filter of \mathcal{L}_2 .*

Proof. (1) Let $x, y \in f^{-1}(F)$ and $t \in \mathcal{L}_1$. Then $f(x \wedge y) = f(x) \wedge f(y)$, $f(x \vee t) = f(x) \vee f(t) \in F$ gives $x \wedge y, x \vee t \in f^{-1}(F)$, as F is a filter. Thus $f^{-1}(F)$ is a filter of \mathcal{L}_1 . Suppose that $a \vee b \vee c \in f^{-1}(F)$ for some non-zero elements $a, b, c \in \mathcal{L}_1$. Then $f(a \vee b \vee c) = f(a) \vee f(b) \vee f(c) \in F$ which implies that $f(a) \vee f(b) = f(a \vee b) \in F$ or $f(c) \in F$. It follows that $a \vee b \in f^{-1}(F)$ or $c \in f^{-1}(F)$. Thus $f^{-1}(F)$ is a 1-absorbing prime filter of \mathcal{L}_1 .

(2) Clearly, $f(H)$ is a filter of \mathcal{L}_2 . Suppose that $x \vee y \vee z \in f(H)$ for some non-zero elements $x, y, z \in \mathcal{L}_2$. Then there are non-zero elements $a, b, c \in \mathcal{L}_1$ such that $x = f(a)$, $y = f(b)$ and $z = f(c)$. Therefore $f(a \vee b \vee c) = f(a) \vee f(b) \vee f(c) = x \vee y \vee z \in f(H)$; so $f(a \vee b \vee c) = f(d)$ for some $d \in H$. By the hypothesis, there exists $e \in \mathcal{L}_1$ such that $e \vee d = 1$ and $d \wedge e = 0$. Set $u = a \vee b \vee c$ (so $u \vee d \in H$). Then $f(u \vee e) = f(u) \vee f(e) = f(d) \vee f(e) = f(1) = 1$; hence $u \vee e \in \text{Ker}(f) \subseteq H$. Now H is a filter gives $(u \vee d) \wedge (u \vee e) = u \in H$. Therefore $a \vee b \in H$ or $c \in H$, and so $x \vee y \in f(H)$ or $z \in f(H)$. Hence $f(H)$ is a 1-absorbing prime filter of \mathcal{L}_2 . \square

Quotient lattices are determined by equivalence relations rather than by ideals as in the ring case. If F is a filter of a lattice (\mathcal{L}, \leq) , we define a relation on \mathcal{L} , given by $x \sim y$ if and only if there exist $a, b \in F$ satisfying $x \wedge a = y \wedge b$. Then \sim is an equivalence relation on \mathcal{L} , and we denote the equivalence class of a by $a \wedge F$ and these collection of all equivalence classes by

\mathcal{L}/F . We set up a partial order \leq_Q on \mathcal{L}/F as follows: for each $a \wedge F, b \wedge F \in \mathcal{L}/F$, we write $a \wedge F \leq_Q b \wedge F$ if and only if $a \leq b$. The following notation below will be kept in this paper: It is straightforward to check that $(\mathcal{L}/F, \leq_Q)$ is a lattice with $(a \wedge F) \vee_Q (b \wedge F) = (a \vee b) \wedge F$ and $(a \wedge F) \wedge_Q (b \wedge F) = (a \wedge b) \wedge F$ for all elements $a \wedge F, b \wedge F \in \mathcal{L}/F$. Note that $f \wedge F = F$ if and only if $f \in F$ (see [10, Remark 4.2 and Lemma 4.3]).

Compare the next theorem with Corollary 2.17 in [13].

Theorem 8. *Let F and G be proper filters of a complemented lattice \mathcal{L} with $G \subseteq F$. Then F is a 1-absorbing prime filter of \mathcal{L} if and only if F/G is a 1-absorbing prime filter of \mathcal{L}/G .*

Proof. Let $f : \mathcal{L} \rightarrow \mathcal{L}/G$ such that $f(x) = x \wedge G$. So we have

$$f(x \vee y) = (x \vee y) \wedge G = (x \wedge G) \vee_Q (y \wedge G) = f(x) \vee_Q f(y).$$

similarly, $f(x \wedge y) = f(x) \wedge_Q f(y)$. Then f is a lattice homomorphism from \mathcal{L} onto \mathcal{L}/G , $f(1) = 1 \wedge G = 1_{\mathcal{L}/G}$, $\text{Ker}(f) = \{x \in \mathcal{L} : x \wedge G = 1 \wedge G\} = G \subseteq F$ by [9, Lemma 4.2 (2)] and $f(F) = \{f(z) : z \in F\} = \{z \wedge G : z \in F\} = F/G$ by [10, Lemma 4.2 (4)]. Suppose that F is a 1-absorbing prime filter. Since $\text{Ker}(f) \subseteq F$ and f is onto, we conclude that $f(F) = F/G$ is a prime 1-absorbing filter of \mathcal{L}/G by Theorem 7 (2). Suppose that F/G is a 1-absorbing prime filter of \mathcal{L}/G . Then $f^{-1}(F/G) = F$ by [10, Lemma 4.2 (4)]; so F is a 1-absorbing prime filter of \mathcal{L} by Theorem 7 (1). \square

Theorem 9. *Let F be a proper filter of \mathcal{L} . If \mathcal{L} is a \vee -lattice, then \mathcal{L}/F is a \vee -lattice.*

Proof. Let H be a proper filter of \mathcal{L}/F . Then $H = K/F$ for some proper filter K of \mathcal{L} by [10, Lemma 4.2 (5)]. Let $K = \bigcap_{i=1}^n F_i$ be a \vee -factorization. Then $H = (\bigcap_{i=1}^n F_i)/F = \bigcap_{i=1}^n F_i/F$ by [10, Lemma 4.2 (7)]. It is enough to show that F_i/F is a 1-absorbing prime filter of \mathcal{L}/F for each $i \in \{1, 2, \dots, n\}$. Let

$$(a \wedge F) \vee_Q (b \wedge F) \vee_Q (c \wedge F) = a \vee b \vee c \wedge F \in F_i/F$$

for some non-zero elements $a \wedge F, b \wedge F, c \wedge F \in \mathcal{L}/F$. Clearly, a, b, c are non-zero elements of \mathcal{L} and $a \vee b \vee c \in F_i$ by [10, Lemma 4.2 (2)]. Since F_i is a 1-absorbing prime filter, we get that $a \vee b \in F_i$ or $c \in F_i$ which implies that $(a \wedge F) \vee_Q (b \wedge F) \in F_i/F$ or $c \wedge F \in F_i/F$. Therefore \mathcal{L}/F is a \vee -lattice. \square

Theorem 10. *For each 1-absorbing prime filter P and a join subset S , a 1-absorbing prime filter Q that satisfies $P \subseteq Q$ is constructible.*

Proof. Set $Q = \{x \in \mathcal{L} : x \vee s \in P \text{ for some } s \in S\}$. If $p \in P$, then $p \vee s \in P$ ($s \in S$) gives $P \subseteq Q$. Let $x_1, x_2 \in Q$ and $t \in \mathcal{L}$. Then $x_1 \vee s_1, x_2 \vee s_2 \in P$ for some $s_1, s_2 \in S$ (so $s_1 \vee s_2 \in S$) gives $(x_1 \wedge x_2) \vee (s_1 \vee s_2), (x_1 \vee t) \vee s_1 \in P$; hence $x_1 \wedge x_2, x_1 \vee t \in Q$. Thus Q is a filter of \mathcal{L} . Let $a \vee b \vee c \in Q$ for some non-zero elements $a, b, c \in \mathcal{L}$ such that $a \vee b \notin Q$. Then $a \vee b \vee c \vee s \in P$ for some $s \in S$ and $a \vee b \notin P$. Now P is a 1-absorbing prime filter gives $c \vee s \in Q$ which implies that $c \in Q$. Hence Q is a 1-absorbing prime filter of \mathcal{L} such that $P \subseteq Q$. \square

Let $\mathbb{F}(\mathcal{L})$ be the set of all filters of \mathcal{L} .

Lemma 7. *If F is a filter and S a join subset S with $S \cap F = \emptyset$, then the set $\Omega = \{G \in \mathbb{F}(\mathcal{L}) : F \subseteq G \text{ and } S \cap G = \emptyset\}$ of filters under the relation of inclusion has at least one maximal element, and any such maximal element of Ω is a 1-absorbing prime filter.*

Proof. Clearly, $F \in \Omega$, and so $\Omega \neq \emptyset$. Moreover, (Ω, \subseteq) is a partial order. It is easy to see that Ω is closed under taking unions of chains and so Ω has at least one maximal element by Zorn's Lemma, say M . Since $S \cap M = \emptyset$ and $0 \in S$, we see that $0 \notin M$ and $M \subsetneq \mathcal{L}$. It remains to show that M is a 1-absorbing prime filter. Now let $a \vee b, c \notin M$; we must show that $a \vee b \vee c \notin M$ for some non-zero elements $a, b, c \in \mathcal{L}$. Since $a \vee b \notin M$, we have $F \subseteq M \subsetneq M \wedge T(\{a \vee b\})$. By maximality of M in Ω , we must have $S \cap (M \wedge T(\{a \vee b\})) \neq \emptyset$, and so there exist $s \in S, t \in \mathcal{L}$ and $e \in M$ such that $s = e \wedge (a \vee b \vee t)$. Similarly, there exist $s' \in S, t' \in \mathcal{L}$ and $e' \in M$ such that $s' = e' \wedge (c \vee t')$. Put $A = a \vee b \vee t$ and $c \vee t' = B$. Then $s \vee s' = ((e \wedge A) \vee e') \wedge ((e \wedge A) \vee B) = ((e \wedge A) \vee e') \wedge (e \vee B) \wedge (a \vee b \vee c \vee t \vee t')$. Since $s \vee s' \in S$ and $((e \wedge A) \vee e') \wedge (e \vee B) \in M$, we must have $a \vee b \vee c \notin M$ since $S \cap M = \emptyset$, as needed. \square

Theorem 11. *If F is a filter of \mathcal{L} , then $F = \bigcap_{H \in V_{ab}(F)} H$.*

Proof. Since the inclusion $F \subseteq \bigcap_{H \in V_{ab}(F)} H$ is clear, we will prove the reverse inclusion. Let $x \in \bigcap_{H \in V_{ab}(F)} H$. We suppose that $x \notin F$, and look for a contradiction. Set $S = \{0, x\}$. Then S is a join subset of \mathcal{L} with $S \cap F = \emptyset$. Hence, by Lemma 7, there exists a 1-absorbing prime filter P of \mathcal{L} such that $F \subseteq P$ and $P \cap S = \emptyset$. It follows that $P \in V_{ab}(F)$, so that $x \in S \cap P$, a contradiction, i.e. we have equality. \square

Proposition 4. *If F, G are filters with G a 1-absorbing prime and $F \subseteq G$, then there exists a minimal 1-absorbing prime H over F such that $H \subseteq G$.*

Proof. Set $\Omega = \{K \in \text{abSpec}(\mathcal{L}) : F \subseteq K \subseteq G\}$. Then $G \in \Omega$, and so $\Omega \neq \emptyset$. Put $S = \mathcal{L} \setminus (G :_{\mathcal{L}} x)$ for every non-zero element $x \in \mathcal{L} \setminus G$. Then S is a join closed subset of \mathcal{L} by Proposition 1. By an argument like that in Lemma 7, the set Ω of 1-absorbing prime filters of \mathcal{L} has a minimal member with respect to inclusion (by partially ordering Ω by reverse inclusion and using Zorn's Lemma) which is a 1-absorbing prime filter, i.e. the result holds. \square

Theorem 12. *Let F be a proper filter of \mathcal{L} . The following hold:*

- (1) $F = \bigcap_{H \in \min_{ab}(F)} H$;
- (2) If F is a 1-absorbing prime filter, then $|\min_{ab}(F)| = 1$;
- (3) If F has a \vee -factorization, then $\min_{ab}(F)$ is finite.

Proof. (1) Since $\min_{ab}(F) \subseteq V_{ab}(F)$, it is clear that $\bigcap_{H \in V_{ab}(F)} H$ is a subset of $\bigcap_{H \in \min_{ab}(F)} H$ by Theorem 11. However, the reverse inclusion is immediate from Proposition 4 (since every prime 1-absorbing filter in $V_{ab}(F)$ contains a minimal 1-absorbing prime filter over F).

(2) This follows from (1).

(3) If $F = \bigcap_{i=1}^k F_i$ is a \vee -factorization, then $\min_{ab}(F) \subseteq \bigcup_{i=1}^k \min_{ab}(F_i)$, and so $|\min_{ab}(F)| \leq k$ by (2), i.e. (3) holds. \square

Compare the next Theorem with Theorem 2.1, p. 2 in [12].

Theorem 13. *Let $F \subseteq G$ be filters of \mathcal{L} with G is a 1-absorbing prime filter and $a \in \mathcal{L} \setminus G$. The following statements are equivalent:*

- (1) $(G :_{\mathcal{L}} a)$ is a minimal 1-absorbing prime filter over F ;
- (2) $S = \mathcal{L} \setminus (G :_{\mathcal{L}} a)$ is a join subset that is maximal with $S \cap F = \emptyset$;
- (3) For each $x \in (G :_{\mathcal{L}} a)$, there is a $y \notin (G :_{\mathcal{L}} a)$ such that $x \vee y \in F$.

Proof. (1) \Rightarrow (2) Since $F \subseteq (G :_{\mathcal{L}} a)$, $(\mathcal{L} \setminus (G :_{\mathcal{L}} a)) \cap F = \emptyset$. Then the set Ω of all join closed sets, say U , with $U \cap F = \emptyset$ is not empty. Of course, the relation of inclusion, \subseteq , is a partial order on Ω . Now Ω is easily seen to be inductive under inclusion, so by Zorn's Lemma Ω has a maximal element S (so $F \cap S = \emptyset$). By Lemma 7, there is a 1-absorbing prime filter H of \mathcal{L} containing F that is maximal with respect to being disjoint from S which implies that $(\mathcal{L} \setminus (G :_{\mathcal{L}} a)) \cap H = \emptyset$. It follows that $H = (G :_{\mathcal{L}} a)$ by (1); hence $S = \mathcal{L} \setminus (G :_{\mathcal{L}} a)$.

(2) \Rightarrow (3) Let $1 \neq x \in (G :_{\mathcal{L}} a)$ and set $S = \{x \vee y : y \in \mathcal{L} \setminus (G :_{\mathcal{L}} a)\}$. Then S is a join subset that properly contains $\mathcal{L} \setminus (G :_{\mathcal{L}} a)$; so $F \cap S \neq \emptyset$ by maximality of $\mathcal{L} \setminus (G :_{\mathcal{L}} a)$. Thus there exists $y \in \mathcal{L} \setminus (G :_{\mathcal{L}} a)$ such that $x \vee y \in F$.

(3) \Rightarrow (1) Let K be a 1-absorbing prime filter such that $F \subsetneq K \subseteq (G :_{\mathcal{L}} a)$. If $K \neq (G :_{\mathcal{L}} a)$, then there is an element $x \in (G :_{\mathcal{L}} a)$ with $x \notin K$; so $x \vee y \in F \subsetneq K$ for some $y \notin (G :_{\mathcal{L}} a)$ which is a contradiction. Therefore $(G :_{\mathcal{L}} a) = K$. \square

Theorem 14. *Suppose that F is a 1-absorbing prime filter of a divided lattice \mathcal{L} and let $P = (F :_{\mathcal{L}} a)$ be a minimal prime filter over F for some $a \in \mathcal{L} \setminus F$. Then F is a prime filter. In particular, $F = (F :_{\mathcal{L}} a)$.*

Proof. Let $x \vee y \in F$ for some $x, y \in \mathcal{L}$ such that $y \notin F$. We claim that $y \notin P$. On the contrary, assume that $y \in P$. Then by Theorem 13, there exists $z \notin P$ such that $y \vee z \vee z = z \vee y \in F$. But $y \notin F$ and F is a 1-absorbing prime filter of \mathcal{L} , so $z \in F$, a contradiction. Thus $y \notin P$. Now $x \vee y \in F \subseteq P$ gives $x \in P$ and since \mathcal{L} is divided, we conclude that $P \subseteq T(\{y\})$; so $x = y \vee u$ for some $u \in \mathcal{L}$. Then $x \vee y = y \vee y \vee u \in F$. But $y \notin F$ and F is a 1-absorbing prime filter of \mathcal{L} ; hence $u \in F$. Therefore $x \in F$, and thus F is a prime filter of \mathcal{L} . The "in particular" statement is clear. \square

5 1-Absorbing prime avoidance theorem

In this section, we state the 1-absorbing prime avoidance theorem for 1-absorbing prime filters of a lattice \mathcal{L} .

Let F, F_1, F_2, \dots, F_n be filters of \mathcal{L} . We call a covering $F \subseteq \bigcup_{i=1}^n F_i$ efficient if no F_i is superfluous. Analogously, we say that $F = \bigcup_{i=1}^n F_i$ is an efficient union if none of the F_i may be excluded. Any cover or union consisting of filters of \mathcal{L} can be reduced to an efficient one, called an efficient reduction, by deleting any unnecessary terms. We need the following lemma proved in [5, Lemma 3.2] and [5, Remark 2.3 (i)], respectively.

Lemma 8. *For the lattice \mathcal{L} the following hold:*

(1) *Let F and F_i ($i = 1, 2, \dots, n$) be filters such that $F \subseteq \bigcup_{i=1}^n F_i$ is an efficient covering of filters of \mathcal{L} , where $n \geq 3$. Then The intersection of any $n - 1$ of the filters $F \cap F_i$ coincides with $\bigcap_{i=1}^n (F \cap F_i)$.*

(2) *If F, F_1, F_2 are filters of \mathcal{L} with $F \subseteq F_1 \cup F_2$, then either $F \subseteq F_1$ or $F \subseteq F_2$.*

Proposition 5. *Let F and F_i ($i = 1, 2, \dots, n$) be filters such that $F \subseteq \bigcup_{i=1}^n F_i$ is an efficient covering of filters of \mathcal{L} , where $n \geq 2$. If $F_i \not\subseteq (F_j :_{\mathcal{L}} x)$ for all $x \in \mathcal{L} \setminus F_j$ whenever $i \neq j$, then no F_i is a 1-absorbing prime filter of \mathcal{L} , for every $1 \leq i \leq n$.*

Proof. On the contrary, assume that F_j is a 1-absorbing prime filter for some $j \in \{1, 2, \dots, n\}$. Since $F \subseteq \bigcup_{i=1}^n F_i$ is an efficient union, we have $F = \bigcup_{i=1}^n (F \cap F_i)$ is an efficient union. Therefore there is an element $a_j \in F \setminus F_j$ for every $1 \leq j \leq n$. Since $F = \bigcup_{i=1}^n (F \cap F_i)$ is an efficient union, we conclude that $\bigcap_{j \neq i} (F \cap F_i) \subseteq F \cap F_j$ by Lemma 8 (1). By assumption, there is an element $b_i \in F_i$ such that $b_i \notin (F_j :_{\mathcal{L}} a_j)$ for every $i \neq j$. Set $b = \bigvee_{j \neq i} b_i$. Then F and F_i are filters gives $b \vee a_j \in \bigcap_{j \neq i} (F \cap F_i)$. We claim that $b \vee a_j \notin F \cap F_j$. Assume to the contrary, that $b \vee a_j \in F_j \cap F$. Since F_j is 1-absorbing prime and $(F_j :_{\mathcal{L}} a_j)$ is a prime filter of \mathcal{L} by Proposition 1, we have $b_i \in (F_j :_{\mathcal{L}} a_j)$ for some $i \neq j$ which is a contradiction. It follows that $b \vee a_j \notin F \cap F_j$ and this contradicts the fact that $\bigcap_{j \neq i} (F \cap F_i) \subseteq F \cap F_j$, as required. \square

Theorem 15. (1-Absorbing prime avoidance theorem). *Let F, F_1, F_2, \dots, F_n ($n \geq 2$) be filters of \mathcal{L} such that at most two of F_1, F_2, \dots, F_n are not 1-absorbing prime. If $F \subseteq \bigcup_{i=1}^n F_i$ and $F_i \not\subseteq (F_j :_{\mathcal{L}} x)$ for all $x \in \mathcal{L} \setminus F_j$ whenever $i \neq j$, then $F \subseteq F_i$ for some $i \in \{1, 2, \dots, n\}$.*

Proof. By Lemma 8 (2), we may assume that $n \geq 3$. Let $F \subseteq F_i$ for all i with $1 \leq i \leq n$. Then $F \subseteq \bigcup_{i=1}^n F_i$ is an efficient covering of filters of \mathcal{L} . So by Proposition 5, no F_i is 1-absorbing prime that contradicts the assumption. Therefore $F \subseteq F_i$ for some i with $1 \leq i \leq n$. \square

Compare the next theorem with Corollary 3.3 in [13].

Theorem 16. *Let $F = T(\{x_1, x_2, \dots, x_s\})$, where $\{x_1, x_2, \dots, x_s\} \subseteq \mathcal{L}$. Let F_1, F_2, \dots, F_n be 1-absorbing prime filters of \mathcal{L} , $F \not\subseteq F_i$ for every $1 \leq i \leq n$ and $F_i \not\subseteq (F_j :_{\mathcal{L}} x)$ for every $x \in \mathcal{L} \setminus F_j$ and $i \neq j$. Then There are elements $b_2, b_3, \dots, b_s \in \mathcal{L}$ such that $x = x_1 \wedge (\bigwedge_{i=2}^s (b_i \vee x_i)) \notin \bigcup_{i=1}^n F_i$.*

Proof. We use induction on n . If $n = 1$, then the result is clear. So assume that $n \geq 2$ and that the result has been proved for smaller values than n . then there are elements $c_2, \dots, c_s \in \mathcal{L}$ such that $c = x_1 \wedge (\bigwedge_{i=2}^s (c_i \vee x_i)) \notin \bigcup_{i=1}^{n-1} F_i$ (so $c \notin F_i$ for each $i \in \{1, \dots, n-1\}$). If $c \notin F_n$, then $c \notin \bigcup_{i=1}^n F_i$ and so we are done. Thus we may assume that $c \in F_n$. This shows that $x_1 \in F_n$ by Lemma 1 (1). Since $F \not\subseteq F_n$, there is a $2 \leq i \leq n$ such that $x_i \notin F_n$, say x_2 . By assumption, there exists $d_i \in F_i$ such that $d_i \notin (F_n :_{\mathcal{L}} x_2)$ for every $i \neq n$. Set $d = \bigvee_{i=1}^{n-1} d_i$. Then $d \in F_i$ for every $i \neq n$ but $d \notin (F_n :_{\mathcal{L}} x_2)$ by Proposition 3.2. Thus $d \in F_i \setminus (F_n :_{\mathcal{L}} x_2)$ for every $i \neq n$. Let $e = x_1 \wedge ((c_2 \wedge d) \vee x_2) \wedge (\bigwedge_{i=3}^s (c_i \vee x_i)) =$

$$x_1 \wedge (x_2 \vee c_2) \wedge (x_2 \vee d) \wedge \left(\bigwedge_{i=3}^s (c_i \vee x_i) \right) = c \wedge (x_2 \vee d).$$

If $F \subseteq \bigcup_{i=1}^n F_i$, then $F \subseteq F_i$ for some $1 \leq i \leq n$ by Theorem 15 which is impossible. So suppose that $F \not\subseteq \bigcup_{i=1}^n F_i$. Then by an argument like that as above, we assume $x_2 \notin F_n$. If $e \in F_n$, then $x_2 \vee d \in F_n$ by Lemma 1, a contradiction. If $e \in F_i$ for some i ($1 \leq i \leq n-1$), then $c \in F_i$ which is impossible. Thus $e \notin \bigcup_{i=1}^n F_i$, as needed. \square

Compare the next theorem with Corollary 3.4 in [13].

Theorem 17. *Let F_1, F_2, \dots, F_n be 1-absorbing prime filters of \mathcal{L} , F be a filter of \mathcal{L} and $F_i \not\subseteq (F_j :_{\mathcal{L}} x)$ for every $x \in \mathcal{L} \setminus F_j$ and $i \neq j$. If $a \in \mathcal{L}$ and $T(\{a\}) \wedge F \not\subseteq \bigcup_{i=1}^n F_i$, then there exists $x \in F$ such that $a \wedge x \notin \bigcup_{i=1}^n F_i$.*

Proof. Let $a \in \bigcap_{i=1}^k F_i$ such that $a \notin \bigcup_{i=k+1}^n F_i$. If $k = 0$, then $a \wedge 1 \notin \bigcup_{i=1}^n F_i$. So suppose that $k > 1$. If $F \subseteq \bigcup_{i=1}^k F_i$, then $F \subseteq F_i$ for some $i \in \{1, 2, \dots, k\}$ by Theorem 15 which gives $T(\{a\}) \wedge F \subseteq F_i \subseteq \bigcup_{i=1}^n F_i$, a contradiction. So $F \not\subseteq \bigcup_{i=1}^k F_i$. Thus there is an element $b \in F$ such that $b \notin \bigcup_{i=1}^k F_i$ (so $b \notin F_i$ for every $i \in \{1, 2, \dots, k\}$). We claim that $\bigcap_{i=k+1}^n F_i \not\subseteq \bigcup_{j=1}^k (F_j :_{\mathcal{L}} x)$ for every $x \in \mathcal{L} \setminus F_j$. Let $\bigcap_{i=k+1}^n F_i \subseteq \bigcup_{j=1}^k (F_j :_{\mathcal{L}} b)$ for $b \in F \setminus F_j$. By Theorem 15, we obtain $\bigcap_{i=k+1}^n F_i \subseteq (F_j :_{\mathcal{L}} b)$ for some $1 \leq j \leq k$ and $b \in F \setminus F_j$. Since $(F_j :_{\mathcal{L}} b)$ is a prime filter by Proposition 1, we conclude by [6, Lemma 2.1] that $F_i \subseteq (F_j :_{\mathcal{L}} b)$, where $1 \leq j \leq k$ and $k+1 \leq i \leq n$ which contradicts the assumption. Therefore there is an element $c \in \bigcap_{i=k+1}^n F_i$ such that $c \notin \bigcup_{i=1}^k (F_j :_{\mathcal{L}} b)$. Set $z = b \vee c$. Since F and $\bigcap_{i=k+1}^n F_i$ are filters, we get $z \in F \cap (\bigcap_{i=k+1}^n F_i)$. If $z = b \vee c \in \bigcup_{i=1}^k F_i$, then $z \in F_i$ for some $1 \leq i \leq k$ and hence $c \in (F_i :_{\mathcal{L}} b)$ for some $1 \leq i \leq k$ which is a contradiction. Thus $z \notin \bigcup_{i=1}^n F_i$ (so $z \notin F_i$ for every $1 \leq i \leq n$). If $a \wedge z \in \bigcup_{i=1}^n F_i$, then $a \wedge z \in F_i$ for some $i \in \{1, 2, \dots, n\}$. If $i \leq k$, then F_i is a filter gives $z \in F_i$ by Lemma 1 (1), a contradiction. If $k+1 \leq i \leq n$, then $a \in F_i$ which is a contradiction. Thus $a \wedge z \notin \bigcup_{i=1}^n F_i$. \square

Acknowledgments

The authors would like to thank the referee for careful reading.

References

- [1] A. Badawi, *On 2-absorbing ideals of commutative rings*, Bull. Austral. Math. Soc., (3) **75** (2007), 417-429.
- [2] G. Birkhoff, *Lattice theory*, Amer. Math. Soc., 1973.
- [3] E. M. Bouba, M. Tamekkante, U. Tekir and S. Koc, *Notes on 1-absorbing prime ideals*, Comptes rendus de l'Académie bulgare des sciences, (5) **75** (2022), 631-639.
- [4] G. Călugăreanu, *Lattice Concepts of Module Theory*, Kluwer Academic Publishers, 2000.
- [5] S. Ebrahimi Atani and M. Sedghi Shanbeh Bazari, *On 2-absorbing filters of lattices*, Discuss. Math. Gen. Algebra Appl., **36** (2016), 157-168.
- [6] S. Ebrahimi Atani, S. Dolati Pish Hesari, M. Khoramdel and M. Sedghi Shanbeh Bazari, *A simiprime filter-based identity-summand graph of a lattice*, Le Matematiche Vol. LXX III (2018) - Fasc. II, 297-318.
- [7] S. Ebrahimi Atani, *On Baer filters of bounded distributive lattices*, Quasigroups and Related Systems, **32** (2024), 1-20.

- [8] S. Ebrahimi Atani, *The identity-filter graph of lattices*, Palestine Journal of Mathematics, (1) **13** (2024), 77-90.
- [9] S. Ebrahimi Atani, *J-filters of bounded lattices*, Eur. J. Math. Appl., (4) **12** (2024), DOI: 10.28919/ejma.2024.4.12.
- [10] S. Ebrahimi Atani, *G-Supplemented property in the lattices*, Mathematica Bohemica, (4) **147** (2022), 525-545.
- [11] A. El Khalfi, M. Issoual, N. Mahdou and A. Reinhart, *Commutative rings with one-absorbing factorization*, Commun. Algebra, (6) **49** (2021), 2689-2703.
- [12] J. Huckaba, *Rings with Zero-Divisors*, New York/Basil, Marcel Dekker, 1988.
- [13] A. Yassine, M. J. Nikmehr and R. Nikandish, *On 1-absorbing prime ideas of commutative rings*, J. Algebra Appl., DoI: 10.1142/S0219498821501759.